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ŽUPANIJSKO NATJECANJE U ZNANJU ENGLESKOG JEZIKA

za  4.  razrede srednjih škola

ŠKOLSKA GODINA  2007. / 2008.
Zaokruži broj (1 ili 2) liste u kojoj se natječeš:

1 Lista A: gimnazije

2 Lista B: ostale srednje škole
3 Lista C: školovani na engleskome jeziku 
  
duže od jedne školske godine
	Zaporka:
	
	
	
	
	
	



(pet znamenki i riječ)

Slušanje s razumijevanjem:

___________   /    10 bodova


Čitanje s razumijevanjem:

___________   /    10 bodova

Gramatika i vokabular:

___________   / 
80 bod0va
Broj postignutih bodova: 

___________   /  100 bodova

Članovi Županijskog povjerenstva:

1. ____________________________

2. ____________________________

  Predsjednik Županijskog povjerenstva

3. ____________________________

        __________________________

________________________

(mjesto i nadnevak)

	PART 1 - Task 1:  LISTENING COMPREHENSION


Task 1:   The Prize winners
You will hear five short extracts in which five different people comment on their experiences of being prize winners. For questions 1 -10, choose the correct option A, B or C. You will hear the text twice. 
Write the corresponding letter (A- C) on the Answer Sheet.

The task begins with an example (0).

Remember to write your answers on the Answer Sheet.

	0. The first speaker’s wish was to become

a) a director

b) an actor

c) a singer
1. In order to win the prize, the first speaker had to


a)  learn something by heart


b)  present  a speech


c)  act in a play

2.  The first speaker knew he had won 


a) when the principal phoned him


b) because he was offered a job


c) some time after the performance

3. The second speaker entered the competition because 

a) she wanted to win money

b) she thought it would lead to more work

c) she is keen on art exhibitions

4. The painting the speaker entered for the competition was

a) a still life painting 

b) a portrait
c) an extremely large painting
5. When she took part in the competition, the third speaker

a) didn’t get into concerto final

b) gave a very good performance

c) felt unhappy and tense
6. After winning, the third speaker  

a) changed her plans

b) decided to go to university

c) worked abroad

7. As part of the prize, the fourth speaker 

 
a) signed an important contract


b) was able to do a course of study


c) travelled to New York 

8. As a result of winning, the fourth speaker


a) was offered a teaching post


b) was able to join a ballet company


c) realised he had little prospect of success in his career

9. What happened when the fifth speaker went to college


a) He continued to excel in athletics.


b) He discovered a new talent.


c) He found it rather disappointing. 

10. How does the fifth speaker now feel about winning?


a) He is now aware of what is important in his life. 

b) It was the best time of his life.


c) He thinks it led to wrong decisions




	PART 2 - Task 1:  READING COMPREHENSION


Task 1: A Telephone Pioneer: Henry Hunnings (1843 – 1886)
Read the article about Henry Hunnings. Eleven phrases have been removed from the text. Choose from phrases A - L the one which fits each gap. There is one extra phrase which you do not need to use.  

The task begins with an example (0).

Remember to write your answers on the Answer Sheet.

	(0) __J__ of Alexander Graham Bell, who invented the telephone in 1876. But it was a little-known English priest called Henry Hunnings (1) ______ . Bell’s model could transmit a voice up to about 23 km. (2) ______  Thomas Edison improved on the model by attaching a solid carbon button inside the mouthpiece. But Hunnings decided to experiment with granular carbon (3) ________. This improved the voice clarity and extended the voice-transmission distance to about 72 km. Hunnings was granted a patent for his invention in December 1878.

Hunnings was born in 1843 near London. (4)______________ and although much of his time was taken up with Church matters, he had a profound interest in all sorts of gadgets, (5) ________ . A friend of Hunnings with similar interests, called Cox Walker, built a telephone receiver. In 1880 an American called Anders visited England and asked Walker (6) _______ . He was impressed and offered Hunnings L1,000 for the patent. The offer was accepted and the Globe company was formed (7) _______ . In 1881 Hunnings was granted two patents in the United States for his invention. But by this time so many people and companies were involved in telephone design and manufacture (8) ______ .             (9) _____________in 1882 when the United Telephone Company took the Globe Company to court for an alleged infringement of its patents. At first it failed to have the Hunnings patent declared invalid (10)__________ . It then bought the rights to the entire patent from Hunnings.    


	


A
 there was a famous court case
B
instead of solid carbon

C 
 but later it partially succeeded
D
 except that Hunnings invention was superior

E
 to make telephones in England

F
 that conflict was inevitable
G
 particularly those that dealt with magnetism and electricity

H
 if he could inspect the Hunnings transmitter

I
 who made the first big improvement
J
most people have heard 

K
a year after its invention 

L
he became a priest in Yorkshire 

	PART 3 - Tasks 1 - 7: LANGUAGE IN USE


Task 1:  Sentence Transformation
For questions 1 to 10, complete the second sentence so that it is as similar as possible in meaning to the first sentence, using the given word. DO NOT CHANGE THE GIVEN WORD. Use between TWO and SIX words, including the given word.
The task begins with an example (0).

Remember to write your answers on the Answer Sheet.

0. You are not to leave the hospital under any circumstances.

  
are

 
Under no circumstances are you to leave the hospital.

1. Don’t under any circumstances press this red button


do

  
 Whatever____________________________ press this red button.

2. According to Valerie, she’s a relation of mine.


be
     
 Valerie claims __________________________ to me.

3. Food costs our family a lot of money. 


spends

Our family ______________________________  food.

4. It’s a pity you aren’t going to Ann’s party.


wish


I _________________________________  to Ann’s party.

5.  A traffic warden showed me how to get to the museum.


way


I was ______________________________ to the museum by a traffic warden.

6.  We’ll go out if the weather is good.


unless

We ____________________ the weather is good.

7. The weather is fine but my flowers haven’t come out.


spite

My flowers haven’t come out _____________________________ weather.

8. Both questions were impossible to understand.


couldn’t


I  _______________________________________ question.

9. Sheila has decided to take driving lessons.


how


Sheila has decided __________________________ drive.

10. Somebody gave me a black eye.

  
punched


Somebody __________________________________ eye.

Task 2:  Vocabulary 
Read the sentences below and choose the word from a – d that best fits each space. Write your choice on the Answer Sheet.
The task begins with an example (0).

Remember to write your answers on the Answer Sheet.

0. If you give him a message make sure he writes it down because he's very _____________.

  a) absent 

b) forgetful

c) mindless 

d) preoccupied

 1. If you can't remember, let me try to ___________________ your memory.


a) arouse  

b) awaken 

c) refresh 

d) stimulate

 2. My sister's son, Jimmy, is my favourite _______________ .

a) cousin 

b) niece

c) uncle

d) nephew 
 3. You have to be quite _______________________ to stand up in front of an audience.

a) self-confident 
b) self-conscious 
c) selfish 

d) self-satisfied

 4. When are they going to ______________________


a) get married 
b) marry them 
c) marry both 
d) marry themselves

5. The burglar was sentenced to 20 years in _______________ .
 
a) dock 

b) goal 

c) jail 


d) trial

6. Would you like your steak well-done, medium or _________________________


a) bloody 

b) rare 

c) raw 

d) red

7. It’s difficult for me to ___________ exactly what I mean in a foreign language.


a) speak     

b) tell      

c) say   

d) shout

8. I had put some oil in the hinges to stop the door _____________.


a) whining    

b) squeaking   
c) whimpering   
d) scratching

9. When Sally told me she was my lost sister I was completely taken _____________.


a) awake   

b) awash   

c) aware    

d) aback  
10. When I saw the door begin to open I was scared out of my ________________.

 
a) bones      

b) wits     

c) blood     

d) breath

11. Kate spent the morning ____________ along the sea front.

 
a) surfing    

b) strolling   

c) crawling   

d) buzzing

12. I _____________________ this project as the most important in my career.


a) explain   

b) regard    

c) suppose  

d)  believe

13. I couldn’t stand any more, so I left early, but John stayed to the ___________ end.

         
a) very 

b) far


c) final


d) dead
14.  Jack _____________  at the map for a while, unable to believe his eyes.

a) stared

b) glimpsed

c) glanced

d) watched

15. Jean has a very easy-going __________________ .


a) characteristic
b) behaviour

c) reputation

d) personality
Task 3:  Prepositions

Put one suitable preposition in each space. In some of the sentences below, the preposition you have to use is a part of the phrasal verb. 
The task begins with an example (0).

Remember to write your answers on the Answer Sheet.

	    0. It’s safe to hide here. We won’t give you away.
1. My mum told me _________ for coming home late from school.

2. Don’t eat that sausage. I think it’s gone _______.

3. Peter takes _________ his father - he is just like him.

4. I’ve come ________ with an answer to this problem.

5. They live ________ the money her father gives them.

6. Robert has been married ________ Deborah for over a year.

7. This bread tastes _________ fish.




Task 4:  Word formation
Read the text below and think of the word that best fits each space. Use the words given in capitals to form a word that fits in the spaces. Use ONLY ONE word each time. Write your choice on the Answer Sheet.
The task begins with an example (0).

Remember to write your answers on the Answer Sheet.

0. They all passed their exams without the slightest  (0) DIFFICULTY. (DIFFICULT) 
1. When asked to talk about themselves, some people, particularly men, become rather (1) ___________________ (DEFEND). Others become (2) _____________________ (REST), unable to sit still or look at their inquisitor. Others however, become extremely (3) __________________ (TALK), delighted to have been given the opportunity to talk about themselves.
2. In some places the weather changes so quickly that it's very (4)_____________ (PREDICT).
3. Two of these tablets should be taken (5) ___________________ (DAY).
4. He remembers every detail of it because he has a (6) _________________(PHOTOGRAPH)  memory. 

5. I expect she'll get the job, at least there is a fairly high (7) ________________(PROBABLE). 
6. I'm not sure at all, I really can't say with (8) __________________(CERTAIN). 

7. There is no (9) _____________________ (LIKELY) of the government calling an early election. 

8. This knife is very blunt. It needs (10) ___________________ (SHARP).
Task 5: Prefixes

Complete the word in each sentence by adding an appropriate prefix.
Write your choice on the Answer Sheet.
The task begins with an example (0).

Remember to write your answers on the Answer Sheet.

0.  I didn’t pay the bill and now the electricity has been  DIS connected.
1. Why are you so ______ sensitive to other people’s problems?

2. When the cassette finishes, don’t forget to ________ wind it.

3. Anyone with a  ______ ability may qualify for a special pension.

4. I am afraid that the world is full of _______ justice.

5. I am ________ debted to you for all the help you have given me.

6. I found the instructions you gave us very _________ leading. They did not help us at all. 

7. In fact, the whole tour was quite __________ satisfactory. 
8. The garden has been neglected and was ___________ grown with weeds. 

Task 6:  Tenses
Read the text below and think of the tense that best fits each space.  Write your choice on the Answer Sheet.
The task begins with an example (0).

Remember to write your answers on the Answer Sheet.

0. The light bulb (0) was invented (invent) by Thomas Edison. 
1. A large sum (1) _______________ (raise) for the fund by a recent charity concert but the 
target 
of £250,000 (2)  ______________ (still/not/reach).
2. When Queen Victoria died in 1901, she (3) ________________ (reign) for more than 60 
years.
3. I wish you (4) _____________________ (listen) to me.
4. Pay no attention to Graham. He (5) ________________ (just/be) sarcastic.

5. If I (6) _____________  (know) that you (7) _____________________ (arrive) on that train, I  
(8) _________________ (come) to meet you.
6. When I (9) ____________________ (ask) him where room 202 (10) 
______________ (be)    
he (11)________________ (just/smile) and told me (12) ________________ (ask) 
somebody else. 
7. A: Why (13) __________________  (you smell) that cheese, Ted?
    B: I (14)  _______________ (think) about eating it, of course.

    A: Well, I (15) _________________ (not think) that’s a very good idea

Task 7: Error correction
Read the text below and look carefully at each line. Some of the lines are correct and some have a word that should not be there.
If a line is correct, put a tick (√) by the number. If a line has a word that should not be there, write the word in the space provided next to the line number.
Write your choice on the Answer Sheet.
The task begins with an example (0).

Remember to write your answers on the Answer Sheet.

Are Women More Romantic Than Men?

0…√…….. It’s a subject that will probably be debated until the end of time, but 

1…….……on the evidence proven available to psychologists it seems
2…….……just that women do not fall in love as readily as men do.

3…….……Moreover, women seem to fall out of they love more quickly and suffer

4…….……less from long-term distress than men do when a relationship breaks up.

5…….……Why this should be so it is also a controversial question about which

6…….……psychologists have different opinions. One view says that in 

7…….……cultures where a woman is allowed how to choose a mate, as opposed to

8…….….…the family organised arranging a marriage, the woman must look out for

9 ……..…..her own best interests. She seeks the man who is best be able to

10. ……….provide for her and their future children. Some psychologists think
11………...that this may explain why it is not uncommon for women to be 

12 …….....attracted to regard men with power – physical, financial or social. Men,

13………..by contrast, are likely to fall in love them very quickly and be

14………..much less critical than women of the qualities of the person they

15………..love. Seventy per cent of men said they believed these things.


THIS IS THE END OF THE TEST


















